bon phan s6, s& thap phan, tht ty cac phép toan

Tén: Ngay thang: Diém:

3 1
2,242 x3+16x2,7+4= 2+4,3%2+5 =

4,8+3%x3+16%x2,7+4= 1_1X4+%7:
4 5

1 1 3 1

= - 2-3,4= - — = + ==

3 3,7 % 3, c 4><5 5
12,0 2 4gus Lo

5 3 6 5 5
17—1x3—§= %—4x;7+2—3x;2=
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\ g vy bbn phan s6, s6 thap phan, thir ty cac phép toan

Tén Ngay thang: Diém:
22+3><3+16><2 7;4—61—151 2+43x2+1—m—111
T4 o 4 4 ’ 2 10 10
123 3 1 1 83 3
4.8 + +16x2,7+4=-""=24= e — X444, 7= — =4—
8+ 3x3+16%2,7 5 5 375 TR TE 5 T4y
1 157 7 1 3 1 37 1
——3,7%x2-3,4=(——1)=(-10— - I X5+ —=(—2)=(3—
3 7 4= 15) ( 15) 6 4 2 ( 12) ( 12)
1 1 23 8 1 119 4
_tZygx_ =212 Z 4 8x5— - =(—2)=(-23-
6 15 15 ’ 5 ( 5) ( 5)
1 2 38 8 57 2
—_x3-Z="_=9_ Z—4x27+2-3x%x22=(—)=(-11=
3,7 x3 371 T x 2,7 3x2,2=( 5) ( 5)
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